1. (@

. What is the sum of the two numbers (11 110), and (1010),? [2014-I]

(a) (101000), (b) (110000),
(c) (100100), (d) (101100),
. The number 251 in decimal system is expressed in binary system

by: [2014-1]
(@) 11110111 (b) 1111011 (¢) 11111101 (d) 11111110

. What is (1001), equal to? [2014-T1]
@Gy B Oy @ aD, @ Ay

. The decimal number (127.25), ,, when converted to binary number,
takes the form [2015-1]
(@) (1111111.11), (b) (1111110.01),
(¢) (1110111.11), (d) (1111111.01),
. If (11101011), is converted decimal system, then the resulting

number is [2015-1
(a) 235 (b) 175 (©) 160 (d) 126
. What is (1000000001), - (0.0101), equal to? [2015-11]

(@) (512.6775),, (b) (512.6875),,

(c) (512.6975),, (d) (512.0909),,

. What is the binary equivalent of the decimal number 0.3125?
[2016-1]

(@) 00111 (B) 0.1010 (e) 0.0101 (4) 0.1101

. If the number 235 in decimal system is converted into binary

system, then what is the resulting number? J2016-11]
(@) (11110011), (b) (11101011),
(c) (11110101), (d) (11011011)2

. In the binary equation [2017-1j

(1p101), + (10g1), = (100+00),
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where p, ¢ and r are binary digits, what are the possible values of
P q and r respectively?

(a) 0.1,0 () 1,10 {c) 0,0,1 (d 1,0,1

10. The remainder and the quotient of the binary division (101110), +
(110), are respectively [2017-11]
(a) (111), and (100), (b) (100), and (111),
(¢) (101), and (101}, (d) (100), and (100},
11. The binary number expression of the decimal number 31 is
[2018-1}
(@) 1111 (by 10111 () 11011 (d) 11111
12. The sum of the binary numbers (11011),, (10110110), and
(10011x0y), is the binary number (101101101),. What are the
values of’x and y? [2018-11]
(a) x=1p=1 (b) x=1,y=0
(c) x=0,y=1 d x=0,y=0
13. A binary number is represented by (cdccddcceddd),, where ¢ > d.
What is its decimal equivalent? [2019-1T]
(a) 1848 (b) 2048 (c) 2842 (d) 2872
14. The number (1101101 + 1011011}, can be written in decimal system
as [2020-1 & 11}
@ (198),, (b)) (199, () @Oy, (@) (200),,
15. What is (1110011}, = (10111), equal to ? [2022-1f
(@) (101), () (1001), () (111), (d) (1011),
16. Ifx*+3?=(100010111), and x+y = (11111),, then what is (x — y)?
+ xy equal to? [2022-1]
(a) (1101), (B) (1001),
(c) (1011), (d) (1111),
17. What is the binary number equivalent to decimal number 10117
[2023-1]
(@) 1011 (b) 111011 (¢) 11111001 (d) 111110011
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1. (a) (11110)2=2“X 1+283x1+22x1+
2% 1+20%0
=16+8+4+2+0=30
(1010), =2* x 1 +22x0+2x14+20%0
=84+0+2+0=10
Adding their decimal equivalent, we have
Sum =30+ 10=40
Now, converting 40 to binary

=512+0+ 05 ...+ 1

=(513),,

(0.0101),=0x 27" + 1 x 2240%x23+1

%4
1=l

= — 4 —
G 1

. (1000000001), — (0.0101),

5
= rﬁ-: (0.3125),,

12. (b) On substraction, we get

101101101
—10110110
10110111
-11011
10011100

=x=1,y=0
13. (d) Binary number = (cdceddcccddd),

2l =S1-031 = Clathi S Where ¢ > d we know, only two bit (digits)
21210 7. (¢) 03125 x2= | 0.6250 0 and 1 be any binary numbers.
3 1‘5) g 0.6250 x 2= | 1.2500 (cdceddeceddd), = (101100111000),
. 1 DA ~ (0 (101100111000), = (1 x 211)
0.5000 % 2= 1.0900 + (0 x ziﬂ)m + (1 % 29)10 1
1{0 -, (0.3125),, = (0.0101), 4 (0% 29,0~ (2872),
i e 8. (b)
y &;340 (101000), 5o 14. (d) The value of (1101101), is obtained as:
5 To8i 2 {17 |1 iy
2.|125]1 2 |58 |1 The value of (1011011), is obtained as: 91
2162 |1 2429 10 The sum is then obtained as:
R ET 0 2 |14 1
R TR 517 1o (1101101 + 1011011),
2 kg i 213 11 = (109 + 91),,= (200),,
213 .11 s 15. (@) (1110011), = (115);,
1 1 So, (235),,= (11101011), (10111),=(23),,
Therefore, (251)105[111110“)2 9. (a) (1p101)2+(10(}1}2:(]00?00)2 (1110011), + (10111),
3. (b) (1001),= (23 x 1+22x0+2' x0+20 S x2P+px2+1x2240x21+1x29 185 (23 = (Y
x1yg =B+ 1)= e +(IxP+0x2+gx2+1x29 i e T ) e
5 = 5 « 92 % 3 =%
4. (d) (12725),, - At g e ks n
Kow, = 16+8+4+1+8+29+1=32+4r Xy =279, (1)
2 {127 =30+8p+2g=32+4r x +y=(11111),=G1), (i)
2163 11 =8p+2=2+4r By =+ E-ap+)?)
2131 11 from options, substitute p=0,g=1,7=0 =5 279 = (31) [(x— ») +xv]
2 115 T et w (r=yP +xy=9=(1001),
Al 1 0+2(1)=2+0=2=2, 17. (%)
2 Tar b 10. (B) (101110),=1x25+0x 24+ 1x 2+ :
gy 1x22+1 %21 +0x2°=(46),, 2 o
127=(1111111), Similarly, (110), =1 %22+ 1 x2! +0x 2 Sledl
Now, =(6); 2. |28
0.25 x 2= 0.5 carry 0 Quotient = 7 =(111), 2 |126 0
0.5%2=1.0carry | Remainder = 4 = (100), 2 |63 0
. (127.25),, = (1111111.01), 11. (d) 2 |31 1
5. (@) (11101011), 2| 31 B i
=(1%x27+1x26+1x25+0x24 P S
+ 1x2B+0x22+1x204+1 %20, 23 I I AR :
=(128+64+32+8+2+ 1), 2] 3 |1 Akl R
=(235),, G I 1
6. (b) (1000000001), 5 ol
I 5 s : inary equivalent of 1011 i
1x2°+0x284+0%27+ . +1x2° So, binary form of 31 is (11111), (111110011) 1
2
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